
963,1 dm³      =       ........................................................................................................     cL

46 ons      =       ........................................................................................................     gram

2 minuten      =       ........................................................................................................     seconde

23 L      =       ........................................................................................................     cm³

42 cL      =       ........................................................................................................     dL

93,81 cm      =       ........................................................................................................     hm

328,093 cm      =       ........................................................................................................     hm

55,9 m²      =       ........................................................................................................     hm²

3812 mg      =       ........................................................................................................     cg

4 dL      =       ........................................................................................................     L

5200 weken      =       ........................................................................................................     jaar

21 L      =       ........................................................................................................     cm³

65,2362 L      =       ........................................................................................................     cL

592,6 L      =       ........................................................................................................     dm³

47,87 L      =       ........................................................................................................     hL



963,1 dm³      =     963,1 L      =     96310 cL

46 ons   =   4600 gram

2 minuten = (2 x 60) seconde  =  120 seconde

23 L      =     23 dm³      =     23000 cm³

42 cL      =     4,2 dL

93,81 cm      =     0,009381 hm     (komma 4 plaatsen naar links)

328,093 cm      =     0,0328093 hm     (komma 4 plaatsen naar links)

55,9 m²      =     0,00559 hm²     (komma 2 x 2 plaatsen naar links)

3812 mg   =   381,2 cg

4 dL      =     0,4 L

5200 weken = (5200 : 52) jaar  =  100 jaar

21 L      =     21 dm³      =     21000 cm³

65,2362 L      =     6523,62 cL

592,6 L      =     592,6 dm³

47,87 L      =     0,4787 hL


